
SOLUTIONS ELET2230

TEST I 2020

I - T Ca) 1.25 A

- A = 1.25
2. o B

IB = 2
- O 3.05 D

Z -25
C

T =3 -25 2. o B
- C i. 25 A

T =3
-05

z -o B
- D -

13.8 BITS

(b) Hey = Pain. TPBIBTPEICTPDID
= 1.86 BITTISYMB

I - 86*7=13.02
BITS

(C) 7 Symbols Entry 10ms

IS 700 SYMBOLS /SECOND



(d) 0.42 0.42 0.58

ITAI DID
a

' """
0.21

00017 D
0.12 [ =/ (0-42)+26257+31021)t001 IID 3. ( o -12) =/ - 91 BITS.



EFFICIENCY =

Htt)

(e)
I

X 100=972

AVERAGE # OF BINARY
DIS- its

PER SECOND

Vs I = 70011.91=1337bitts

Vs HH) = 700 (1-86)=1302
biefsec

INFORMATION RATE (R ) = 1302 biefsec

BINARY DIET RATE (Vb) = 1337 bitts

Vb Z R ( SHANNON Source coDINT
THEOREM )

Vb is smarter THAN R
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